Rishilpi Education Program Annual Report 2014



Jhaudanga CPS

Sponsored by:



Jhaudanga CPS: at a glance

Progetto Uomo Rishilpi International Onlus Bangladesh works for improving the standard of living to the extremely poor, vulnerable, disadvantaged community. To promote the education rights of underprivileged children it has operated 45 Community Primary School (CPS) in the remote villages. Due to CPS intervention a visible change is appeared in the community that is the indicator of changes are:

- Increased literacy rate, children are enjoying their education rights,
- Children are no more exploited as child labor reduced,
- Early marriage rate is reducing, health and hygiene situation is improved,
- Socio-economic condition of the community is improved,
- Community is valued by the mainstream society.

Community Feature						
SI.No.	Particulars Number					
01	Total family in the village	85				
02	Total population	374				
03	Day Labour	35				
04	Farmer	10				
05	Rickshaw van driver	19				
06	Barbar/Saloon worker	0				
07	Bamboo basket maker	0				
08	Others	21				

Community Development Intervention Since 2004 year

A. Situation Analysis in 2014

SI.No.	Particulars	Acheiv ement	
01	CPS student	53	
02	Primary student	30	
03	High school student	40	
04	College	1	
05	University & others	0	
06	Total family use safe drinking water	85	
07	Total family use Sanitary Latrine use	78	
08	Birth Registration complete	100%	

B. Acheivemnt 2014

SI.No.	Particulars	Acheiv ement			
01	Students Enrolled	53			
02	Attendence rate (Average)	94			
03	Student completed class One	30			
04	Student completed class Two	23			
05	Parents meeting attendence	100			
06	Teacher attended training (time)	4			
07	School Mnagement Committee meeting organized	4			
08	Home visit by Teacher (time)	48			



Jhaudanga CPS was
established in 2004 to ensure
primary education for the
children of Kaura (Pig rarer)
community. There are 53
students enrolled in the school
in 2014. The school has been
running with the generous
contribution of
Rishilpi International Onlus.

Rishilpi International Onlus selected Jhaudanga village and is being operated a school named Jhaudanga Community Primary School (CPS).

There are 85 families live in the Jhaudanga village. The children of these families read in the CPS.

After complete the class-III from CPS they admit in the Government primary school



School Performance 2014

Total number of 53 students attended the annual examination and 100% of students passed in the examination, they promoted to class next class

Result of Annual Examination 2014									
Class	Appea red	Passed	Number of students						
			Α+	Α	A-	В	С	D	F
One	30	30	9	18	2	1	0	0	0
Two	23	23	5	13	3	2	0	0	0
Total	53	53	14	31	5	3	0	0	0

Activities of Jhaudanga CPS

- Conducted assembly regularly.
- Ensure quality of teaching as follow the lesson plan
- Student's Performance Evaluation
- Class monitoring by Supervisor.
- Extra curriculum activities (music, Dance, drama, game etc.)
- Students follow up at home
- Special Coaching for slow learner.
- School Management Committee (SMC) Meeting
- Parents/guardians meeting
- Skill development training for teachers
- Education materials provided to the students







A poor boy enjoying school

Raj Gosh is a student of class-II. He comes from a poor family. His father work in field and earn a little amount of money. This money is not enough to bear his family expenses. Raj thought he never could go to school. But now he is enjoying school with his school friends. He hopes that he would success in life. His parents are happy to see him in school. He wishes to be a Police Officer in future.





Conclusion:

Rishilpi International Onlus aims to ensure quality of education for the

underprivileged children. significant change is appeared due to this intervention community primary education. CPS is one of the best ways for schooling the children. Community is very grateful to Rishilpi International Onlus and conveys their thanks and deepest gratitude to them for their compassionate love to the children of disadvantaged



Bangladesh. Rishilpi International Bangladesh is also thankful to the beloved donors for generous support to operate the school.

Overall View of Jhaudanga Village





Signboard of Jhaudanga CPS Teacher is helping student to prepare home task





Women are doing house hold work

A woman is taking care domestic animal (Cow)



Progetto Uomo Rishilpi International Onlus Jhaudanga CPS Operational Budget for Community Primary School (CPS)

SI.No	Particulars	Unit/ Month	Unit cost	Amount in BDT	Amount in Euro
1	Remuneration/Salary of CPS Teacher	13	6000	78,000	867
2	Remuneration/Wages of Cleaner	12	600	7,200	80
3	Conveyance for CPS Teacher	12	120	1,440	16
4	Learning Materials (Pen,Pencil, Sharpener; Eraser; Khata, shallot & Books etc)	47	180	8,460	94
5	School Bag for 47 students	47	290	13,630	151
6	Shoes for 47 students	47	278	13,066	145
7	School dress for 47 students	47	475	22,325	248
8	School house repair & maintenance	1	4120	4,120	46
9	Postage, Trasport/Communication	12	120	1,440	16
10	Teacher supplies	12	120	1,440	16
11	Printing/Photocopy & Stationary	12	160	1,920	21
12	Observation (Victory and Independece day)	2	800	1,600	18
13	Maintenance cost (Soap, phenyl, washing powder etc.)	12	80	960	11
14	Refresers training CPS & ELC Teacher	12	150	1,800	20
15	School Monitoring and Supervison support cost	12	300	3,600	40
16	Awareness & Motivation session	12	60	720	8
17	Primary Treatment for students	12	200	2,400	27
18	School Managing Committee (SMC) Meeting	2	400	800	9
19	Program Support cost	12	465	5,580	62
	Total expenses			170,501	1,894